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For Old Regular Students] (2 2 Hours ) [ Total Marks :80
For IDOL Students | ( 3 Hours) [ Total Marks :100

N.B.: (1) Question no. 1 is compulsory
(2) IDOL students solve any 4 questions from question No.2 to 8.
(3) OLD (Regular) students solve any 3 questions from question No.2 to 8
(4) All questions carry 20 marks. each.

1. From the following balance sheets of PQR Ltd you are required to prepare statement of
changes in working capital and Funds Flow statement.

Liabilities 2013 | 2014 Assets 2013 | 2014
Equity capital 3,00,000 [4,00,000|Goodwill 55,000 | 50,000
Profit and Loss A/c 3,000 4,000 | Land and Building |1,50,000 {1,42,500
General reserve 50,000 | 60,000 |Plant & Machinery 80,000 {2,00,000
Provision for Tax 35,000 | 40,000 |Debtors 45,000 | 51,000
Proposed Dividend 30,000 | 40,000 |Stocks 1,06,000 {1,38,500
Creditors 30,000 | 40,000 |Bills Receivable 20,000 7,000
Bills Payable 25,000 | 23,000 (Cash 17,000 | 18,000

4,73,000 |6,07,000 4,73,000 |6,07,000
Additional Information:

(a) Duringthe year2014,Rs.7,500 was charged as depreciation on land and building
and Rs.20,000 as depreciation on Plant and machinery.

(b) During 2014, dividend of Rs.30,000 and income tax 0f Rs.25,000 in respect of
2013 was paid.

(c) Rs. 5,000 was written off against goodwill during the year 2014.

2. Prepare a cash budget from the following information:

Month Sales Purchase Wages Other expenses
December 58,000 40,000 9,000 16,000
January 97,000 29,000 12,000 14,000
February 82,000 28,000 9,000 10,000
March 98,000 26,000 19,000 9,000
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Other information:
(a) Cashinhand on 1st December,2014 was Rs.13,000.
(b) 30% sales are for cash and debtors get realized in 2 months period equally.
(c) One month credit is available from creditors for purchases.
(d) All other expenses are incurred on 1st of next month.
(e) Other expenses includes depreciation of Rs.1,000 per month.

3. From the following balance sheets of XYZ Ltd you are required to prepare comparative
balance sheet and offer your comments:

Liabilities 2012 2013 | Assets 2012 2013
Equity capital 6,00,000 | 6,00,000 | Goodwill 2,30,000 | 1,80,000
8% Redeemable 3,00,000 | 2,00,000 | Land and Building 4,00,000 | 3,40,000

Preference share

capital

General reserve 80,000 | 1,40,000{Plant 1,60,000 | 2,00,000
Profit and Loss A/c| 60,000 96,000 [ Debtors 3,20,000 | 4,00,000
Proposed Dividend 84,000 | 1,00,000 [Stocks 1,54,000 | 2,18,000
Creditors 1,10,000 | 1,66,000|Bills Receivable 40,000 60,000
Bills Payable 40,000 32,000 | Cash 30,000 20,000
Provision for Tax 80,000 | 1,00,000 |Bank 20,000 16,000

13,54,000 [14,34,000 13,54,000 (14,34,000

4. The following balances appear in the books of M/s.Khosla and Co. for the year ended
315 March,2015. You are required to calculate the income statement ratios:

Particulars Rs. | Particulars Rs.
Opening stock 25,000 | Sales return ' 10,000
Office rent 2,500 | Profit on sale of investment 2,500
Carriage inward 10,000 | Loss by fire 2,500
Wages 36,000 | Closing stock 20,000
Octroi 2,500 | Purchases 1,00,000
Office staff salaries 20,000 | Postage and Telegram 2,500
Audit fees 10,000 | Provision for tax 15,000
Advertisement 12,500 | Sales 3,10,000
Finance expenses 12,500 | Dividend received 12,500
Loss on sale of asset | 15,000 | Carriage outward 2,500
Depreciation 22,500 | Warehouse expenses 4,000
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5. ABC Ltd. proposes to buy amachine costing Rs.2 lacs. Calculate Payback period, Payback
Profitability and average rate of return of the above machine from the annual income
before depreciation and tax given below:

Years 1 2 3 4 5 6
Profit (Rs.) 1,00,000 90,000 70,000 60,000 50,000 {40,000

Income tax @50% and Depreciation @10% on written down value method.

6. A company produces and sells a single article at Rs. 60 each. The marginal cost of
production is Rs.36 each and fixed cost is Rs.2,400 per annum. Calculate:
(a) Profit volume ratio
(b) Break even sales (in Rs. And Nos.)
(c) Sales to earn a profit of Rs.3,000
(d) New Break even point if sales price is reduced by 10%.
(e) Profit at sales of Rs.18,000
(f) Selling price per unit if the Break-even point is reduced to 80 units.

7. Answer briefly (Any 2)
(a) What are the different types of working capital?
(b) Explain balance sheet ratios.
(c) Whatare the functions of a Finance Manager?

8. Write short notes: (Any 4)
(a) Methods of costing
(b) Common-size statements
(c) Objectives of cash management
(d) Types of costassociated with Receivables Management
(e) Need for Capital Budgeting
(f) Break even Analysis.
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